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General Instructions :

Read the following instructions carefully and follow them :

(D)

(2)
(3)
(4)

(5)
(6)
(7)
(8)
9)

1. @A)

B)

67/2/3

This question paper contains 34 questions. All questions are
compulsory.

This question paper is divided into two Parts — Part — A and Part — B.
Part — A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the
given options as per the subject opted.

Question number 1 to 16 and 27 to 30 carries 1 mark each.
Question number 17 to 20, 31 and 32 carries 3 marks each.
Question number 21, 22 and 33 carries 4 marks each.
Question number 23 to 26 and 34 carries 6 marks each.

There 1s no overall choice. However, an internal choice has been
provided in 7 questions of one mark, 2 questions of three marks,
1 question of 4 marks and 2 questions of six marks.

PART - A

(Accounting for Partnership Firms and Companies)

Net Assets minus capital reserve is :

(a) Purchase consideration (b) Goodwill
(¢) Total Assets (d) Liquid Assets 1
OR

When a company issues shares at a premium, the company can

collect securities premium along with the following :
(a) Application money (b) Allotment money
(¢) Call money (d) Any of the above 1

AN Page 3 P.T.O.
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2. (A) W U HIE AIHER & TUT ITeh! TRA YSh shEe: T 3,00,000 AT T 2,00,000 o |
3T TSGR TG % ITAR doft W 10% a1 1 & =11 <7 97 | 31 A1, 2022
%1 TUTH §C a9 T IE 9 T 30,000 o7 | 31 HTE, 2022 ! 9919 §C 9 6 foT¢
T HTSIER o FTe] @Td oh ST U&7 H Wl <hl 715 STt T2 TS bl Tfm oft
(a) TEZ 30,000 TUTHAET T 20,000 (b) TH T 20,000 AT AEA T 10,000
(¢ TWX 18,000 qTHIEA X 12,000 (d) TH T 30,000 G2 HigH I

Jreran
(B) 314, fag 7ur f=n v wH i HieR off quT 2:2:1 % UM § AW-7IH w1

faarem st off | forn 61 9 TR & TS oft o o | 3Tt W % 50,000 W A
€ BT | 31 W, 2022 1 GHTE B Y § B b1 @ T 2,00,000 9T | 3 g

S EIRERIEIRUN IR
(a) 10,000 (b) 2,500
() ¥ 175,000 (d) ¥5,000

3. Ufga qe mifed T wH % FTEIER 9 qUT 2:1 % A § -1 sfed 9 | 31.3.2021
%I 37 YSTt @TAl § A T 1,09,000 T&T X 66,000 T ST 2T AT | 1 37, 2021 i
321 Hfeet o1 o H 1/59 WA o T Teh 7 TSR ST | |ifeet 3794 @At Shfirm
9T o foTT % 25,000 SR | 98 T M fasTS= 3191 o STTER dSf 1 AMTEH it
foTe Tgwa o1 | wrfeet g s TS ISh <Y i oft
(a) ¥ 40,000 (b) 32,000
(© ¥12,50,000 (d) 50,000

4. {1 U1 391 Uk BH I AR off qeT AT -1 1 fa9TS 3:5 % STTaTa H et off | o
o QT 397 1 Tk A8 o 310 H T 15,000 =T T ThAT | AT W AT 8% Tk
T Y T ST | JTE0T 9L ST <h TUHT o o7 37ed arafer it
(a) 4% wEN (b) 65EM
(c) 6% WEN (d) 5% TEN

5. U ®H o TS W, YA % T & T 2,00,000 TGHT AT G5 TIF T T T g
% 10,00,000 & ¥ 7,00,000 eh H HTAT AT |

TR U AT /3T BhfY
(a) & 1,00,000 () =T 1,00,000
() BT 5,00,000 (d) <™ % 5,00,000
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(A) Ram and Mohan were partners with fixed capitals of ¥ 3,00,000 and
T 2,00,000 respectively. As per their partnership deed, interest on
capital was allowed @ 10% p.a. Net profit for the year ended 31st
March, 2022 was ¥ 30,000. The amount of interest on capital was
credited to each partner’s current account for the year ended 31st
March, 2022 was :

(a) Ram T 30,000 and Mohan ¥ 20,000
(b) Ram % 20,000 and Mohan ¥ 10,000
(¢) Ram T 18,000 and Mohan % 12,000
(d) Ram T 30,000 and Mohan Nil

OR

(B) Anu, Bindu and Siya were partners in a firm sharing profits and
losses in the ratio of 2:2:1. Siya was guaranteed that her share of
profit will not be less than ¥ 50,000. The firm’s profit for the year
ended 31st March, 2022 was T 2,00,000. The amount of deficiency to
be borne by Anu was :

(a) 10,000 (b) 2,500
(¢) T 75,000 (d) 5,000

Rohit and Mohit were partners sharing profits and losses in the ratio of
2:1. Their capital accounts as on 31.3.2021 had a credit balance of
T 1,09,000 and ¥ 66,000 respectively. They admitted Sahil as a new
partner on 1st April, 2021 for 1/5th share in profits. Sahil brought ¥ 25,000
as his share of goodwill premium. He agreed to contribute capital in new
profit-sharing ratio. The amount of capital brought by Sahil was :

(a) 40,000 (b) ¥ 32,000

(¢) %12,50,000 (d) 50,000

Rita and Usha were partners in a firm sharing profits and losses in the
ratio of 3:5. During the year Usha withdrew ¥ 15,000 at the end of each
month. Interest on drawings is to be charged @ 8% p.a. The average
period for the calculation of interest on drawings will be :

(a) 4% months (b) 6 months

(¢) 6% months (d) 5% month

On the reconstitution of a firm, the value of the land was appreciated by
3 2,00,000 and plant and machinery reduced to ¥ 7,00,000 from
% 10,00,000. Gain or loss on revaluation will be :

(a) Gain ¥ 1,00,000 (b) Loss ¥ 1,00,000

(¢) Loss < 5,00,000 (d) Gain X 5,00,000
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6. IS o 0T b THA, 379 Y @I o 79 q&T H Wt hl AT 2 :
(a) M T I ARTH | (b) FIMWICT AN E |
(c) 3TN WA U & | (d) 37T W T A I TE A |

7. sl fafiee 3 T 100 &% % 20,000, 9 % O b1 10% sg R fffia fomam, fmept
e iftem 9 fora Stam | 3 o & e WSkt o i e e %
qH-9eT H @dHT T 4,00,000 T 1 TTE | SO o e WM K i g

(a) 4,00,000 () ¥2,00,000
() %6,00,000 (d) ¥ 10,00,000

8.  TUTA, HEUM qT Mg AIPER & TAT 5:4:3 < A § AH-FIH dfed & | 1 3714,
2022 ! FHEI T &1 7T | AT G Mg 3 1 § 36 9 %! % 1,20,000
YT Sleh 3hF L 1T | T 80,000 T WA TTet 3 GT 3 40,000 T JTdH TMfeg 3
femam | arferemmy U R -

(@ 1:2 b) 5:3
) 1:1 d 2:1

9. aiftrmem (A) : diEdHeie Ioit faftr 3 srata doft @l o1 I gHe-w9 W afiEfad g

2l

HIT (R) : ftadaetier Gofit faftr & weft smmnse S8 em-gt @6 9w, Ol WS,
JATET0T, JTEL0T W AT 3Tfe ST ohat e |reieri o Isit @rat & fopan srar
2l

(@) (A) ¥, ®qR)TEA2 |

(b) M (A) AT (R) T & 9T (R), (A) ! HEl ST T 2 |

(c) QM (A) T (R) Ted & |

(d) T (A) TYUT (R) TE 2 GT (R), (A) I T A& 2 |

10. wicegfernt w1 Satfera st a1 faferi & sifirem o fore foreht et gra safeari < we
TAfd TE 1 STTHEIT AT (TTEST(eh STTHAV o HTEIH b STCATET), ST ST &
(a) 7N o1 Tt fotee (b) w3
(c) Tvma @rTa (d) HHER i M =
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At the time of forfeiture of shares, share capital account is debited with :
(a) Uncalled amount on shares (b) Paid up amount on shares
(c) Called up amount on shares (d) Unpaid amount on shares

Elite Ltd. issued 20,000, 9% Debentures of ¥ 100 each at a discount of
10%, redeemable at a premium. On issue of these debentures, ‘Loss on
issue of debentures account’ was debited with ¥ 4,00,000. The premium on
redemption of debentures is :

(a) % 4,00,000 (b) *2,00,000

(¢) %6,00,000 (d) < 10,00,000

Gopal, Krishna and Govind were partners sharing profits and losses in
the ratio of 5:4:3. Krishna retired on 1st April, 2022. Gopal and Govind
purchased his share of profit by giving him ¥ 1,20,000. T 80,000 was paid
by Gopal and ¥ 40,000 by Govind. Gaining ratio is :

(a) 1:2 (b) 5:3

) 1:1 @ 2:1

Assertion (A) : Under the fluctuating capital method, the balance in the
capital account fluctuates from time to time.

Reason (R) : Under the fluctuating capital method, all the adjustments
such as share of profit and loss, interest on capital, drawings,
interest on drawings etc. are recorded directly in the capital accounts
of the partners.

(@) (A)1is correct but (R) is wrong.

(b) Both (A) and (R) are correct but (R) is not the correct explanation of
(A).

(¢) Both (A) and (R) are incorrect.

(d) Both (A) and (R) are correct and (R) is the correct explanation of (A).

Offer of securities or invitation to subscribe securities to a select group of
persons by a company (other than by way of public offer) is known as :

(a) Private placement of shares (b) Sweat equity

(¢) Incorporation cost (d) Employee stock option plan



@
El H]

11. (A) T 9Eied B & IR @R § | s sififaem, 2013 & EumE! % 3gEn

B)

=oEr § 311 feraw stfafcs @reer =1 yaw fear s aswar g ¢

(@ 50 (b) 46
(¢ 100 (d 96
Frean

1fira e gt teh ®H % |EieR A qem 3R et ISt shEeT: € 6,00,000 AT
% 4,00,000 ft | S 1 BH & 1 § 1/59 WA % ToTT Th AT ARG ST TR |
Hid 379 Tt iftem &% 9w % &9 ° T 40,000 FUT 39T GSft % fTw 3,00,000
ST | G o ST g W WA < TS Tt sfifiem s ufy geft

(a) 20,000 (b) < 24,000
(¢) %16,000 (d) ¥ 40,000

12. s foafeq o@ed w4 At $a ufwmt@r €030,00,000 A1 HHI FoA AT
% 6,00,000 off | afwafeat st ageit 80% T g8 qeT SHarsti &1 fHueH 5% w0 W fema
T | Afe fererest == 330,000 9, A ferered W @y 3reran g1+ of

(@)
(©

13. (A)

B)

67/2/3

™™ % 18,00,000 (b) = 2 6,00,000
& 2 6,00,000 (d) =2 18,00,000

T8 feAfieg 3 T 10 w3k o qut anferd 500 31 @t ¥ 3 i 3791 Y Stf=m Jr=n 61
A 7 T T 07 L fom | 99 & 300 3790 1 % 8 Wil 3791 qui et . fifira
R fem e | St T @Td < ST 9e § @l o s i off

(a) 1,500 () ¥2,100
() 3,200 (d) ¥ 1,800
YT

Tsh HEHT 9 T 10 T3 & 1000 3791, fomm w3 7 anfea 9, 7 2 fa o791 <6t wem
AT ST T = BT I FOT L foran | g1 |eft 371 bt 3 5 Wit 3797, T 7 Yed W
o Teifer s feerm mram | ot wer @ § geeiatcd i oft -

(a) %2,000 (b) % 3,000

(¢) 4,000 @ 5,000

AN Page 8
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11. (A) A partnership firm has four partners. How many additional partners
can be admitted into the business as per the provisions of the
Companies Act, 2013 ?

(@ 50 (o) 46
(¢ 100 (d) 96 1
OR

(B) Amit and Sumit were partners in a firm with fixed capitals of ¥
6,00,000 and ¥ 4,00,000 respectively. Kavi was admitted as a new
partner for 1/5th share in the profit of the firm. Kavi brought ¥ 40,000
as his share of goodwill premium and % 3,00,000 as his capital.

The amount of Goodwill premium credited to Sumit will be :
(a) ¥20,000 (b) T 24,000
(¢) 16,000 (d) 40,000 1

12. Total assets of a partnership firm, which was dissolved were ¥ 30,00,000
and its total liabilities were ¥ 6,00,000. Assets were realised at 80% and
liabilities were settled at 5% less. If dissolution expenses were I 30,000,
the profit or loss on dissolution was :
(a) Profit % 18,00,000 (b) Loss ¥ 6,00,000
(¢) Profit % 6,00,000 (d) Loss ¥ 18,00,000 1

13. (A) Radhe Ltd. forfeited 500 shares of ¥ 10 each fully called up for
non-payment of final call of ¥ 3 per share. 300 of these shares were
reissued at ¥ 8 per share as fully paid-up. The amount credited to
Capital Reserve Account was :

(a) 1,500 () ¥ 2,100
() 3,200 (d) 1,800 1
OR

(B) A Company forfeited 1000 shares of ¥ 10 each, ¥ 7 called up for
non-payment of first call of ¥ 2 per share. All these shares were
reissued at ¥ 5 per share ¥ 7 paid up. The amount transferred to
Capital Reserve Account was :

(a) 2,000 (b) ¥ 3,000
() T4,000 (d) 5,000 1

67/2/3 AN Page 9 P.T.O.
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e sreufaes uftfeufa 1 ufew quT sk 3R W yv T 14 @91 15 % S e ;
%5, ¢d a1 T U wH & WIgieR 9 99T 5:3:2 % 3T § -1 Sied o | 3R
rft Oeft shEst: % 6,00,000, ¥ 4,00,000 91 % 2,00,000 off | ISt % stfafes fra 3
%H 1 T 75,000 1 0T a1 g3 AT | 3 AT Tor@ § e =1 yrarerm o

i) ISt 9% e T =N |

(i) HTEERI % TR W 12% 1Nk @ 8 &4 |

(iii) &I T 30,000 ATfEreh qUT ed w1 T 40,000 i femmeh 97 |

(iv) 39 o o1 9 9% arfer < H = |

Y o g Tk fommel & 31 ° % 3 T 50,000 T TR fohaT; < 3 Y Ay &
IR H 3 50,000 T 3T febam a f31a 3 yedes 37efad & 31=1 § 3 70,000 T 3TEI
fopam |

31 |, 2022 ! FHTH 5T Y § T3ra & =01 W AT | qd BH 61 1 2 7,06,750 AT |

14. - fafeem @Td 8 fohaan s1g oy gearatia foan w2

(a) %7,06,750 (b) ¥ 7,02,250
(¢c) % 7,00,000 (d) 7,13,000

15. HTSGRI gRI STTE T AT i T 8rft -
(a) %% 2,250;¢d T 4,500 a1 3@ T 2,100
(b) ¥ 9,000; <F T 9,000 7T 3 T 4,200
(¢) ¥534,500; ¢ T 4,500 a1 3@ 3 2,100
(d) ¥ T 24,000; T T 12,000 Tt ¥ 3 16,800

16. (A) TH U TEER & Y9 W [{H APeR TRemfai & qdedind Td <aamsti &
YA I g aTet e AT B %l fore o 9 fope 31uTa o &fien

(a) S-S (b) I T~y U 7
(¢) TWAY-TouIeH U@ E  (d) W I A
Freran
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" Read the following hypothetical situation and answer question no. 14 and
15 on its basis :
Rudra, Dev and Shiv were partners in a firm sharing profits in the ratio of
5:3:2. Their fixed capitals were T 6,00,000, ¥ 4,00,000 and % 2,00,000
respectively. Besides his capital Shiv had given a loan of ¥ 75,000 to the
firm. Their partnership deed provided for the following :
(1) Interest on capital @ 9% p.a.
(1) Interest on partner’s drawings @ 12% p.a.
(111) Salary to Rudra ¥ 30,000 per month and to Dev ¥ 40,000 per quarter.
(1v) Interest on Shiv’s loan @ 9% p.a.
During the year Rudra withdrew ¥ 50,000 at the end of each quarter; Dev
withdrew ¥ 50,000 in the beginning of each half year and Shiv withdrew
% 70,000 at the end of each half year.
The profit of the firm for the year ended 31-3-2022 before allowing

interest on Shiv’s loan was ¥ 7,06,750.

14. How much amount of net profit will be transferred to Profit and Loss
Appropriation A/c ?
(a) %7,06,750 (b) T7,02,250
(¢) ¥7,00,000 (d) 7,13,000 1

15. What will the amount of interest on drawings of the partners ?
(a) Rudra? 2,250; Dev % 4,500 and Shiv T 2,100
(b) Rudra 3 9,000; Dev % 9,000 and Shiv % 4,200
(¢) Rudra 4,500; Dev ¥ 4,500 and Shiv < 2,100
(d) Rudra ¥ 24,000; Dev ¥ 12,000 and Shiv ¥ 16,800 1

16. (A) On admission of a new partner, the old partners share the gain or
loss on revaluation of assets and reassessment of liabilities in which

of the following ratio :

(a) Equally (b) In old profit sharing ratio
(¢) Innew profit sharing ratio (d) In sacrificing ratio 1
OR

67/2/3 AN Page 11 P.T.O.
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17.
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19.

(B) 3T 3R from weh wH A Arsier off qUT 3:1 % AT H AT -71 BT faered
off | ST | 1/49 9T o foTQ = <l Uk U HTeR & &9 H %A | Yo7 feam man 5y
3G AT U 99T B SsR-se 9 ° o | s, fen we = o 1= e

[EEIECICERICRIE
(a) 3:1:4 by 1:1:2
(¢ H5:1:2 d 1:2:1

(a) HIE, g YT Lo Th %4 b IPER 9 a1 2:2:1 % A1 o sied 9 | i
1 T 70,000 AT Y TR € 7€ oft | G Bl <) 7S TRA 1 g8 Ferelt oft Hft 61 HreA
AT TIE 3:2 & TG H T8 T | 31.3.2022 I GUH T W o 1€ w1
™ % 2,00,000 T |
31.3.2022 ! THTH g N & fofu w1 b1 ety g1 faf=em @rar dum shife |

Jreran

(b) o TUTT T HH H ATGR & qT ATH SR dred o | 37661 IS off : % % 1,20,000
T @ % 80,000 | TS HI 91k & 20% & | ®H >1 fUset dF a9 w1 @
% 34,000, % 38,000 TT % 30,000 T | IR T I T FAT HIHGR ST | T
TS IR Y <h TAT(T 1 YeATeh ST o G TN oh 353 <h STTER 9T foharm T |
T % O T HH <hl BT o o I TUMET HIFAT |

i, T qeT Hifgd Ush WH o ATSIER & qAT 5:3:2 o ST H AT - 81 T fTei shid
g | 139, 2022 ¥ I8 2:2:1 % AT H -7 foifoia 6 & T smoe o
TEH( %1 | I8 FRHd g3 T
(i) wH i Tfd T geareRd € 1,40,000 T |
(i) Ot o YYeaTeR qeiT SIS o JAMERT W&ty ¥ 1,20,000 T |
%4 T Jdehi H IR -1 shi 3T Ustra= Sfefat SHifaw | ot -
oo} <1 Tr w9 ¥ T9riEy |

forT, g qer ey Ush B o |reieR & 9T 2:3:1 % JTIATd H AT T fawTeH i 9 |
qeT e B T e S, aREm R % g @ e % giator aweh
it STTI9I THREINSH S & 9= daqﬂitvﬁum HIATI 85,000 1 REEIKGEIRCGIEIL]
T ! 38eh T o 01 (7€M 2 % 1,15,000 < o foTT T&wd §T | G416 et |
I o TR b ToTT 3TTerveh Ustra= yfafy shifu |
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(B) Asha and Nisha were partners in a firm sharing profits and losses in

the ratio 3:1. Charu was admitted as a new partner for 1/4th share in

the profits of the firm which she acquired equally from Asha and

Nisha. The new profit sharing ratio of Asha, Nisha and Charu will be :

(a 3:1:4 b) 1:1:2

(c) 5:1:2 d 1:2:1 1

17. (a) Mohan, Sohan and Suresh were partners in a firm sharing profits in
the ratio of 2:2:1. Suresh was guaranteed a profit of ¥ 70,000. Any
deficiency on account of guarantee to Suresh was to be borne by
Mohan and Sohan in 3:2 ratio. The profit of the firm for the year
ended 31.3.2022 amounted to ¥ 2,00,000.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31.3.2022. 3

OR
(b) A and B were partners in a firm sharing profits equally. Their

capitals were : A ¥ 1,20,000 and B ¥ 80,000. The annual rate of
interest is 20%. The profits of the firm for the last three years were
% 34,000; T 38,000 and ¥ 30,000. They admitted C as a new partner.
On C’s admission the goodwill of the firm was valued at 2 years
purchase of the super profits.
Calculate the value of goodwill of the firm on C’s admission. 3

18. Mita, Geeta and Mohit were partners in a firm sharing profits and losses

in the ratio of 5:3:2. With effect from 1st April, 2022, they mutually agreed

to share profits and losses in the ratio of 2:2:1. It was agreed that :

(1) Goodwill of the firm was valued at ¥ 1,40,000.

(i1) Profit on revaluation of assets and re-assessment of liabilities
amounted to ¥ 1,20,000.
Pass necessary journal entries for the above transactions in the
books of the firm. Show your working notes clearly. 3

19. Vibha, Sudha and Ashish were partners in a firm sharing profits in the
ratio 2:3:1. Sudha retired and the balance in her capital account after
making necessary adjustments on account of reserves, revaluation of
assets and re-assessment of liabilities was ¥ 85,000. Vibha and Ashish
agreed to pay Sudha ¥ 1,15,000 in full settlement of her claim. Record the
necessary journal entry for goodwill on Sudha’s retirement. 3

67/2/3 AN Page 13 P.T.O.
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20. (a)

(b)

foent frfireg 3 feaem fafieg @ ¥ 1,98,000 % Teaeia god st TiEm =t 1
%3 fopa | o8 Tfa g3 76 3h9 o &1 TaM % 100 S% & 10% ROT9ET i
ontfera ok fepam wma |
fgent fetfiree <t qaent | srTarvereh TsiT=n Sfafdar Hifse o7 9d gu fo o
EQREUECE
(i) 10% s W feam T | (i)  10% Sfifeem o e i |

Jreran
1.4.2021 &1 915 feifieg 3 % 100 I&% % 10,000, 9% FOTHAT bl 6% T3 T
fortfira e o fore staies stmf=ra fepu | wqof Tfin atmeied W@ oft |1 12,000, 9%
FOTTAT o fTU 3TTaEA ITH U | |+ft STTaceh] hl STTHTIIh STTER W 9% FOTHAT h1
3Teie o e o | 3rreed Wy Jrfafs afst anfoe s e 1 31.3.2022 w1
St 7 et srfufrem, 2013 % YEUE % AR e T woag w6
sraferfaa s w1 faola e | 3@ fafr 1 et & wfagfa fiftem = @ o
% 10,000 T 19 2T |
ST Y AT § ITITH ST o 1T STTawareh Tstmwen Sfafsat Hifs |

21. % 10 Yk o GHaT 320 4 foreh aeadt fafiee i stfespa 4sit ° 10,00,000 7 | P
1 3fere aum ot wed 37 Sl ¥ 4,00,000 2t | 319 7 ol STTeaweRanati i U i %
o e 3 2 10 I % 20,000 FHAT 3791 1 T T S e ypr a3 9
% 3 TG W; % 3 3T W, % 2 T AT T a1 ¥ 2 G Ta 31| I | |
ot &9 o fired &1 T | e U HT PEE 1 WE, 2021 I, TUT AT TRT 67
1 37TE, 2021 1 TUT 1< AT T 1 TR, 2021 7 o | T, 5" 1000
TS BT ATEeA TRl TTIT o, 3 3TTeeA TUT AT=T TR T YTaE & foham; 600 3791 &
Tsh TS aT8 A I A3 b1 YT a1 fo6am; qem sig 4, & 400 3731 1 31reed
Tepar T o, i AT T A @ fRa | hE i, 2013 W sEE 111,
T T o 3TTAR o 31 3791 §Sht 1 39k feafer faamo & weqa hifse | 3eft < fore @i
% e i dAR AT |

67/2/3

AN Page 14



D)

EI H]

20. (a) Sinco Ltd. purchased assets of the book value of ¥ 1,98,000 from
Dixon Ltd. It was agreed that the purchase consideration be paid by
issuing 10% debentures of ¥ 100 each.

Record the necessary journal entries in the books of Sinco Ltd.

assuming that the debentures have been issued : 3
(1) At a discount of 10%. (i) At a premium of 10%.
OR

(b) On 1.4.2021 Y Ltd. invited applications for issuing 10,000, 9%
debentures of ¥ 100 each at a discount of 6%. The entire amount was
payable with application. Application for 12,000, 9% debentures were
received. 9% debentures were allotted on pro-rata basis to all the
applicants. Excess money received with applications was refunded.
On 31.3.2022 the company decided to write off discount on issue of
debentures according to the provisions of the Companies Act, 2013.
On that date the company had ¥ 10,000 in its securities premium
reserve account.

Pass necessary journal entries for the above transactions in the
books of the company. 3

21. Saraswati Ltd. has an authorised capital of ¥ 10,00,000 divided into
equity shares of ¥ 10 each. Subscribed and fully paid up share capital of
the company was ¥ 4,00,000. To meet its new financial requirements, the
company issued 20,000 equity shares of ¥ 10 each which were payable as
follows : ¥ 3 on application; ¥ 3 on allotment, ¥ 2 on first call and T 2 on
second and final call. The issue was fully subscribed. The allotment
money was payable on 15t May 2021, first call money on 1st August 2021
and final call on 1st October 2021. X whom 1000 shares were allotted, did
not pay the allotment and call money; Y an allotee of 600 shares, did not
pay the two calls ; and Z whom 400 shares were allotted, did not pay the
final call. Present the share capital in the Balance Sheet of the company
as per Schedule III, Part I of the Companies Act, 2013. Also prepare Notes
to Accounts for the same. 4
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22. W, T AT IR Teh BY o ARGR < TUT 2:1:2 o AT H A-BI6 sied o | 31.3.2022

1 31 Teufa foramor fr yerm & o -
31.3.2022 i W, = Ao 3R ot feufa feremon
Sgang W ) SRt o )

TER 48,000 | S 25,000
o fae 22,000 | ¢TeR 75,000
T g 80,000 | =ik 2,00,000
2021-22 T A™ 2,00,000 | wefid 3,00,000
ISt ol qUT A 10,00,000

9t 5,00,000

] 2,50,000

R 5,00,000 12,50,000

16,00,000 16,00,000

30 5, 2022 W1 “F’ hI g & T3 | A Hor@ H FTaH ot foh foret dmgier i 9y

R 35 rsaTess T % geheR B

(G) 33U ISl @1 H1 I |

(i) ISt T 6% e g W A |

(iii) ﬁwwﬁ%mﬁﬁwm,mﬁwﬁ@éaﬁ%m%mwm
Eq| |

(v) Tifa o 3t 9T, FSEeh! oMt fisel =) o & 3fEd o & | 981 & I %
JATYR W hT A |
a9 2018-19 &1 &H 2 3,00,000; 2019-20 =1 ¥ 4,00,000 q4T 2020-21 <h1
< 1,00,000 2 |
1.6.2022 1 ‘T = 379 Ufgehel ST o1 WTAH i o foTT T 50,000 T AT fohaT |
3IGh! Yog T 3Tk FsaTEen! S TEqd S o foTe FY 61 Uefl @rar aar Hif |

23. fafira afmmfaat (ke & i) wa smer qaansti 1 aeft @ # H-aRd & &
qE, 999 Td T i GEER) B % fHEed ¥ gwfRd MERgd oF-¢al % T
SATIIT USHTHT Tfarfsai hif
(i) 60,000 % AERT 7 3194 TE & Yo FUeE | T 59,000 Yo T Wik WhR H
foram |

(i) T ST U 6 3 12,000 o T S YA hl HEAd € |

(ii1) fererem <6 faftr =1 & & emv-g @1 | € 18,000 HTAE AT AT |

(iv) ¥ 20,000 s Teh rfeifad a1 1 WA Teh HIPER, TEh gRT 10% T W fepa
T |

(v) T H T 4,000 o KT T A <eh G fehan 717 |

(vi) TEea =3 11,000 9, TehT Ta™ wge gr foham i |
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22. P, Q and R were partners in a firm sharing profits and losses in the ratio
of 2:1:2. Their balance sheet on 31st March, 2022 was as follow :

Balance Sheet of P, Q and R as on 31.3.2022

Liabilities Amount (%) Assets Amount )
Creditors 48 000 | Bank 25,000
Bills payable 22,000 | Debtors 75,000
General Reserve 80,000 | Stock 2,00,000
Profit for 2021-22 2,00,000 | Machinery 3,00,000
Capitals : Land and Building 10,00,000

P 5,00,000
Q 2,50,000
R  5.,00.000 12,50,000
16,00,000 16,00,000

On 30th June, 2022, Q died. The partnership deed provided that on the
death of a partner his executors will be entitled for the following :

()
(i)
(iii)

@iv)

Balance in his Capital account.

Interest on capital @ 6% p.a.

His share in the profits of the firm till the date of his death
calculated on the basis of last year’s profit.

His share in the goodwill of the firm calculated on the basis of the
three years purchase of the average profits of last four years.

Profits for 2018-19 were ¥ 3,00,000, for 2019-20 were I 4,00,000 and
for 2020-21 were % 1,00,000.

On 1.6.2022 Q withdrew T 50,000 for meeting his medical expenses.
Prepare Q’s Capital Account on his death to be presented to his
executors.

23. Pass the necessary journal entries for the following transactions on the
dissolution of the partnership firm of Tanay and Mehak after various
assets (other than cash) and external liabilities have been transferred to
Realisation Account :

(1) Creditors of ¥ 60,000 accepted stock valued at ¥ 59,000 in full
settlement of their claim.

(11) Tanay agreed to pay off his wife’s loan of ¥ 12,000.

(111) The firm had a debit balance of ¥ 18,000 in the profit and loss
account on the date of dissolution.

(1v) An unrecorded liability of ¥ 20,000 was paid by partner, Mehak, at a
discount of 10%.

(v) Tanay’s loan of ¥ 4,000 was paid through a cheque.

(vi) Expenses on dissolution amounted to ¥ 11,000, which were paid by
Mehak.
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24. T aftfeufertt & sroret & fortam o fore srarzaes st gfafst Hifsw
@) T 100 &% & 5,000, 9% RO &1 FHT 10% 5 W fhanr ma, et e
e oS o qveTd 5% S WS g |
(i) T 100 I % 30,000, 12% RO T FHT 5% fiftem w femam wan, et
NIPERICEIR SR L T ki
(iii) ¥ 100 T & 8,750, 12% FTT=T 1 T aaged W fopan mn, feet shem
aie ot qTET FHed W § |

25. (a) T fAfee 3T 10 ¥&% & 10,000 THAT 901 o A & fow smeea smfea
foru | wfa 3751 U =T YTaM f1 bR @ <F 97 ¢ 3ATEET W T 2; I W 3;
T AT W T 3 7T g8 T T A=A W 2 |

15,000 3791 % T 371EeT U9 §T | 3,000 370 & foTu 3TaeHl s & &
feam T e atree UM AmftE G TS | 12,000 I % f STEEH! H
TR 3TMHR TX 3T Toham T | 31Teied o wme 3ifefes qfdt b1 wmms
TS W ¢ T T foham T | Ueh 3718 1 Bigeht, T8 200 3730 T ATeeA
fopam T o, wefY STSIUTERT A STTEe TR 1 YA L e | 59 3731 1 701
T T | 39k TREIT W ATEAT " TS AT S B3 | G TE SAfaH A=
areft eh At & 7 off | Sk @A % forw i ferfires ot geael § eI
Tt gfafsat HIT | &t ft srevaes 2 3ted Je-T @idn @i |

e

(b) e fafies 3 T 10 T & 50,000 THaT 3T 1 10% Siftrem = foifia @ &
fau srered swfara fpe | wfa arer wfSn 1 Jrae fe YR & <F o7 ¢ 3TEe W
T 3, A W T 3 (Nfem gfeq) aur v ufyr gum wg 3rf<m I W
1,20,000 373t = fTT 37/ee IT8 g€ e @t Traeehl shi TTATfdeh 3MYR 9T 37
ST 3TeTe L T 73T | STTAE TR TH SATAih T 1 TURISH haet e W
Tfsr & foram waT | ST W g iy @ srfafc s uf afm s G e |
JrwreTes fe 6,000 3791 o fofu e feam o, Frem Tfdt 1 yrae T8 &t
T TUT 36k 3T <hT EL0T S o 77T |
Tepe fetfieg o1 T&ehi H ITIRH THeHT o foTu STTarwareh UsHTH= Sfafst Hifu |
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24. Pass necessary journal entries for the issue of debentures in the following
cases :
(1) Issued 5,000, 9% debentures of ¥ 100 each at a discount of 10%
redeemable at a premium of 5% after 5 years.
(11) Issued 30,000, 12% debentures of ¥ 100 each at a premium of 5% and
redeemable at par after 5 years.
(i) Issued 8,750, 12% debentures of ¥ 100 each at par, redeemable at par
after 5 years. 6

25. (a) Ganga Ltd. invited applications for issuing 10,000 equity shares of ¥ 10
each. The amount per share was payable as follows : ¥ 2 on application,
% 3 on allotment, ¥ 3 on first call and ¥ 2 on second and final call.
Applications were received for 15,000 shares. The applications for
3,000 shares were rejected and application money refunded. The
shares were allotted on pro-rata basis to the applicants of 12,000
shares. Excess money received with applications was adjusted
towards sums due on allotment. All shareholders paid the allotment
money except one shareholder who was allotted 200 shares. These
shares were forfeited. The first call was made thereafter and duly
received. The second and final call was not yet made.

Pass Journal entries for the above transactions in the books of
Ganga Ltd. Open Calls-in-Arrears Account wherever required. 6
OR

(b) Mukund Ltd. invited applications for issuing 50,000 equity shares of
T 10 each at 10% premium. The amount per share was payable as
follows : ¥ 3 on application, ¥ 3 (including premium) on allotment and
balance amount on first and final call. Applications were received for
1,20,000 shares and shares were allotted on pro-rata basis to all the
applicants. The excess money received on application was adjusted
towards sums due on allotment only. Application money in excess to
sums due on allotment was refunded. A shareholder who had applied
for 6,000 shares, could not pay the call money and his shares were
forfeited.
Pass necessary Journal entries for the above transactions in the
books of Mukund Ltd. 6
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31 A, 2022 w1 371 fufd forawor fra v @ o -
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31 T, 2022 ! "rera qon R w6 ferfa feerm

Fand afon ufteeafat afor
, ® ®
it : H1ee 3,00,000 ERICT] 4,70,000
e 2.00,000 | 5,00,000 | frast 1,10,000
HTR &fegfd 60,000 | TTeR 1,20,000
[SELH IS 1,90,000 | &2 ; Gferer ol
fewers™ 10,000 | 1,10,000
=l wioss ffy 1,10,000 | =i 1,40,000
Uhe 30,000
8,60,000 8,60,000

1 3186, 2022 I IR BH o Wl F 1/49 91 % fore s 1 Arger § e
femm | onfar aroeft OSft & &9 1 T 1,86,000 @18 9T Tl SiftRm % 379 9w W
faTw 7 40,000 e @ | for= w1t W TEAl 8

®

T2ieh T 4T 23,000 hH ST TT=7 T |

(i) Frem 3 20% e g&ae gog m e foa |

(iii) TR &fegfd 71 @ 2 70,000 U7 FTERT T o1g § T3 SRR |

(iv) FeriH T 27,000 <h1 Wi Tisr wferfera off fSept gran 7=t foram s |
ATl o TN TR YAHETeR WA qei |ISigRi o Yol Wid qar HIfT |

YA

wied! off | 31 7, 2022 1 39T Teufe feraor fr yere @ o

31 ®r, 2022 = ierert, Rt qen wumsht = ferfa feeron

(b) Tfereht, fefermm qem wuft wh wH i Argier off 9uT 3:5:2 % AT # AW-gIH

Tgam afan PIRestee (6D || afn
® ®
IEIELRSE ALY 60,000 | Uehg 50,000
T Ty 40,000 | ¥ih 80,000
ESIE A 40,000
TRt 3,00,000 from 30,000
fefermn 2,00,000 0o 5,00,000
w7t 1,00.000 | 6,00,000
7,00,000 7,00,000
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26.

(@) Madhav and Girdhari were partners in a firm sharing profits and

losses in the ratio of 3:1. Their balance sheet as at 31st March, 2022

was as follows :

Balance sheet of Madhav and Girdhari as on 31st March, 2022

Liabilities Amount Assets Amount
®) ®)

Capital : Madhav 3,00,000 Machinery 4,70,000

Girdhari 2,00,000 | 5,00,000 | Investment 1,10,000
Workmen’s compensation Debtors 1,20,000

fund 60,000 | Less : Provision

for doubtful debts 10,000 | 1,10,000

Creditors 1,90,000 | Stock 1,40,000

Employee’s Provident fund | 1,10,000 | Cash 30,000

8,60,000 8,60,000

On 1st April, 2022, they admitted Jyoti into partnership for 1/4th
share in the profits of the firm. Jyoti brought ¥ 1,86,000 as her
capital and ¥ 40,000 as her share of goodwill premium in cash. The
following terms were agreed upon :

(1) Stock was found undervalued by ¥ 23,000.

(11)
(iii)

% 70,000, which was to be paid later.

@iv)

claimed.

20% of the investments were taken over by Girdhari at book value.
Claim on account of workmen’s compensation amounted to

Creditors included a sum of ¥ 27,000 which was not likely to be

Prepare Revaluation A/c and Partners’ Capital Accounts on
Jyoti’'s admission.

(b)

OR

Radhika, Ridhima and Rupanshi were partners in a firm sharing

profits and losses in the ratio of 3:5:2. On 31st March, 2022, their
balance sheet was as follows :
Balance Sheet of Radhika, Ridhima and Rupanshi as on 31.3.2022

Liabilities Amount Assets Amount
(\9) ®

Sundry Creditors 60,000 | Cash 50,000
General Reserve 40,000 | Stock 80,000
Capitals : Debtors 40,000
Radhika  3,00,000 Investments 30,000
Ridhima  2,00,000 Buildings 5,00,000

Rupanshi 1,00,000 | 6,00,000
7,00,000 7,00,000
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A4)

B)

IR fafer s feferm Sanfaa 2 T8 qen a8 wgHid g3 1o

(i) Y Efd w1 geAmshd 3 3,00,000 TR S |

(i) WS T YA T 6,20,000 foham 7 |

(iii) 7€ w6 IS T 5,00,000 Tyt 6t 7, I AREER & TU AW faumE
AT § BT, 39 3e99 < TIU STTawreh IuEIS AI9ieRi < 9] @Td @i
& fepu AT |

Teferr <61 Sanfagfa W gfeETR @TaT qiT FTEERi % ISt @i IR HIfT |

.
a1
(Forfia Teraomt =t fereeiwon)
RN Td 3ATH T ITH 3,000 T TG ST <1 TROTH &
(a) AT AT ¥ Uhs T ATE |
(b) Ty nfafalRe @ e w1 stz |
(c) Toctia nifafaferi @ Uepe o1 3rais |
(d) Tk 9 Tehg dodl H IS Ted & |
PC
s Toita 3em At fufa o, fSEeh1 J&7 =9ed™ 3UR ¢1 Ud YR oF1 8, ‘&I %
YT T TS 1 TTH o1 Sfehd Tl SITdT @ :
(a) YA NRREISEIA | (b) TR afRris s |
() Tmfafaftrmiss s (d) UhSTABEIT |

frafafaa 9 9 =F a1 fadt faewon o fasemo 1 we areE g 2

(a) -2 feaor (b) IAIUTA ferwersor
(c) Teufq faemor (d) @Tdi s AeH
AUt

_ SAUTAl <l VAT CefehTet W SISET Shi ST ST &THdT 1 1T o feror
T o fAC AT et 2 |

(a) <TSEdT (b) IMEFETAT

(c) AT (d) 3Te

= 1 9 B @ -2 1 IR Uehe o1 T8 TR | ¢

(@)
(©
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S BT 7,000 Ths bl fabte@1 | (b) T 20,00,000 o 3730 <61 fia |
% 60,000  TereTi o1 567 | (d) % 11,000 ! ASGH T WA |
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Ridhima retired on the above date and it was agreed that :

(1) Goodwill of the firm be valued at ¥ 3,00,000.

(1) Building was valued at ¥ 6,20,000.

(i11) Capital of the new firm was fixed at T 5,00,000, which will be in
the new profit sharing ratio of the partners ; the necessary
adjustments for this purpose were to be made by opening
current accounts of the partners.

Prepare Revaluation Account and Partners’ Capital Accounts on

Ridhima’s retirement.

PART-B
Option -1
(Analysis of Financial Statements)

Interest of ¥ 3,000 received in cash on loans and advances will result in :
(a) cash inflow from operating activities.
(b) cash inflow from investing activities.
(¢) cash inflow from financing activities.
(d) No change in cash or cash equivalents.
OR
In case of a financial enterprise whose main business is lending and
borrowing, ‘interest paid’ and ‘interest received’ are classified as :
(a) Operating activities (b) Investing activities
(¢) Financing activities (d) Cash equivalents

Which of the following is a tool of Analysis of Financial Statements ?
(a) Statement of Profit & Loss(b) Ratio Analysis
(c) Balance Sheet (d) Notes to Accounts
OR

ratios are calculated to determine the ability of the business to
service its debt in the long run.
(a) Profitability (b) Solvency
(¢) Liquidity (d) Turnover

Which of the following transactions will not result in flow of cash :

27. (A)
B)
28. (A)
B)
29.
(@)
(®)
(©
(d)
67/2/3

Cash withdrawn from the bank % 7,000
Issue of shares ¥ 20,00,000

Purchase of investments I 60,000
Payment of wages T 11,000
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30. T 31Tl & SR W Wi (3adl) 3TTeRt ST BT :
4
T H ATH 12,00,000
37Ed Wik (3adT) 2,00,000
T BT ST 20%
(@) 67 (b) 5T
(¢ T.27A (d) 3T 1

31. ot arfferm, 2013 1 e II1, 9 1 % SgEr fre wei o fopa g sfident qer
IY-3f1eh] o 3T=Td & fehaT STa
Q) 0wy I
(i) IR HFERR
(iii) TS @I BT AY 3

32. UG IE Tehileh @ FTaH IO Haieri <1 SR hid BT STTehg] b1 YASTIh0T fohaT STTaT & I’
dehe1eh ohl UG ShIfSTT qT UG sh T8 deh-ieh shl feheal &l HHI3T oh1 Jooig hIfT | 3

33. (a) () TEgETa 6w fafiee =T 8 3w 6 e ST

1o aRET ot % 8,00,000
A AT 1.5:1
HTe] 3TaTd 2:1

Wik (Faidl) HATaxt AU 6 T

TTSA h1 ATTA T 25% 1 I <=1 7407 |

(i) TSk HEIHT ST =T U 60% & | Seoi@ ShiteTT o6 T 20,000 T < HTe
o h’ W T STATA ST, T 31a 390 S UNaa i arm | 3+ 1=4

Jr%rT
(b) a fafirs %1 Fur-w9ar 31U 2:1 & | RO Afgd Seoi@ it o e o=-<a1

Y FOT-FHAT ITAT ST, T 31T $HH hIg TN Tai &FT :

() 3 ©i 3 i 31E S | T 1,00,000 T 07 forn et A 5 9wt &
YA HETR |

(1) % 1,50,000 st I T 1€ 363 Temart T |

(i) ¥ 1,00,000 % 9% OIS b1 e foha T |

(iv) ¥ 5,00,000 T Tt o 56 & foTu smmgfederdta st dwan 31 fifia fog
T | 4
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30. The ‘Inventory Turnover Ratio’ from the following information will be :
4
Revenue from operations 12,00,000
Average Inventory 2,00,000
Gross loss ratio 20%
(a) 6 times (b) 5 times
(¢) 7.2 times (d) 3 times 1

31. Under which major heads and sub-heads will the following items be
presented in the Balance Sheet of the company as per Schedule III, Part I
of the Companies Act, 2013 ?

(1) Income received in advance
(i1) Computer Software
(i11) Balance of forfeited shares account 3

32. ‘It is a technique which involves regrouping of data by application of
arithmetical relationships.” Identify the technique and state any two
limitations of the technique identified. 3

33. (a) (@) Calculate Revenue from operations of ‘BN Ltd. from the
following information :

Current Assets $.8,00,000
Quick ratio 1.5:1
Current ratio 2:1
Inventory turnover ratio 6 times

Goods were sold at a profit of 25% on cost.

(i1) The operating ratio of a company is 60%. State whether
‘purchase of goods costing ¥ 20,000° will increase, decrease or
not change the operating ratio. 3+1=14

OR
(b) The debt equity ratio of M Ltd. is 2:1. State with reasons whether the
following transactions will increase, decrease or not change the debt
equity ratio :

(1) Obtained a loan from ICICI Bank ¥ 1,00,000 payable after 5 yrs.

(i1) Purchased machinery for cash ¥ 1,50,000.

(111) Redeemed 9% debentures ¥ 1,00,000.

(iv) Issued equity shares for purchase of machinery of ¥ 5,00,000 to
the vendors. 4
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34. T wreufies faawor 61 ufew Teum gaes smer W g T 799 w1 3w e |
Feore sfeen whiw o 3T=wia GoITaT A T @ ITM hl TAOHT 6 | a8 6l Jhg 7
AT 3T 9§ T 3T 39 g1 bl ITH i & T 10 3171 a9 fomm a1t vt <6
g gerar fafiee’ sAm w1 fola e | 31.3.2022 1 et Y focfl feurfa sash
Terfer feraor & goris et B

gt feates &1 31.3.2022 i feafa foramon
o qe | 31.3.2022 | 31.3.2021
4. ®) ®)
1. Swat qe agard
1. vewes Attt
(%) THdT 37 Uit 20,00,000| 17,00,000
(@) T=F U e 3,00,000|  4,00,000
(T T Terearton)
2. = =AU
AefenTefia 3UR 3,00,000|  2,00,000
3. ] ST
ST < 50,000 25,000
T 26,50,000| 23,25,000
I1. ufermafat
1. ITue aREwEt
() T ufEmaft
(i) g et 8,00,000(  9,00,000
(i1) 37t uferrafaat 5,00,000|  2,00,000
@) 3=t frem 3,00,000|  4,00,000
2. e uREwEt
() TSI (HTeTEET) 4,00,000  5,00,000
(@) AT T 1,50,000| 1,25,000
(M) Ths TG e Tod 5,00,000|  2,00,000
T 26,50,000| 23,25,000
SAfafes ST :

Y 9 H T IREEfaEi W 1,00,000 YeIgTE SRR TR |
ITRE FET o IR TG fAftres’ 1 Uehg Farg faawor’ dam Hifs |
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34. Read the following hypothetical text and answer the given question on the

basis of the same.

Sujata started a small enterprise under the ‘Skill India Scheme’. As the
business grew, the revenue started increasing and she decided to form
‘Sujata Ltd. to achieve her objectives with 10 other like minded persons.
The financial position of the company is given in its Balance Sheet as at

31.3.2022 :
Balance Sheet of Sujata Ltd. as at 31st March, 2022
Particulars Note| 31.3.2022 | 31.3.2021
No. ® ®
1. Equity and Liabilities
1. Shareholders’ Funds
(a) Equity share capital 20,00,000| 17,00,000
(b) Reserves and Surplus 3,00,000 4,00,000
(Statement of Profit and Loss)
2. Non-current Liabilities
Long term Borrowings 3,00,000 2,00,000
3. Current Liabilities
Trade payables 50,000 25,000
Total 26,50,000| 23,25,000
II. Assets
1. Non-current Assets
(a) Fixed Assets
(1) Tangible Assets 8,00,000 9,00,000
(1) Intangible Assets 5,00,000 2,00,000
(b) Non-current Investments 3,00,000 4,00,000
2. Current Assets
(a) Inventories 4,00,000 5,00,000
(b) Trade Receivables 1,50,000 1,25,000
(¢) Cash & Cash equivalents 5,00,000 2,00,000
Total 26,50,000| 23,25,000
Additional Information :
Depreciation of ¥ 1,00,000 was charged on Tangible Assets during the
year.
On the basis of the above information prepare the ‘Cash Flow Statement’
of Sujata Ltd.
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B)

PART -B
Option - 11

(Computerised Accounting)

works as a platform to work with “Tally.

Company information (b) Active company
Gateway of Tally (d) Master

Which of the following components of computerised accounting

system are known as raw facts for any business organisation ?

(a) Procedure (b) Data
(¢) Hardware (d) Software
OR

Which of the following software packages is suitable for an
organization where the volume of accounting transactions is small

and adaptability is very high ?

(a) Specific (b) Tailored
(¢) Generic (d) (b) and (c) both
A is identified by combination of letter and number

corresponding to particular location within the spreadsheet.

(a) Row (b) Cell
(¢) Column (d) Range
OR

Entries required to make trading account and profit and loss account
are known as :

(a) Opening entries. (b) Adjusting entries.

(¢) Closing entries. (d) (a) and (b) both.

30. The ranges are identified within Excel by :

()
©

67/2/3

Using Hashtag (b) Using Vector
Using Comma (d) Using Colour
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34.

Explain any three advantages of using charts.

Explain two main groups in which ‘Group of Accounts’ is classified in
Accounting Software ‘Tally’.

(a) What is a ‘Pivot table’ ? State any three of its advantages.
OR

(b) List eight uses of Accounting Software.

Name the function which is often used to calculate the payment for
mortgage loans that have fixed rate of interest. Also explain its syntax.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
ACCOUNTANCY (055)
Paper Code: (67/2/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is
requested that before starting evaluation, you must read and understand the spot evaluation
guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any magazine
and printing in News Paper/Website etc may invite action under various rules of the Board
and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on
latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The students
can have their own expression and if the expression is correct, the due marks should be awarded
accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( ') wherever answer is correct. For wrong answer CROSS “X” be marked.

Evaluators will not put right (v')while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.




8 If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only once.

11 A full scale of marks _80 has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other
subjects (Details are given in Spot Guidelines)

13 Ensure that you do not make the following common types of errors committed by the Examiner in
the past:-

e Leaving answer or part thereof unassessed in an answer book.

e  Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is correctly
and clearly indicated. It should merely be a line. Same is with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the

prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.




MARKING SCHEME
Senior School Certificate Examination 2023

ACCOUNTANCY (Subject Code-055)
[ Paper Code : 67/2/3 ]

Maximum Marks : 80

Ans. (d) Both (A) and (R) are correct and (R) is the correct explanation of (A).

PART -A
(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIEYS)
EXPECTED ANSWER / VALUE POINTS Marks
* 1Q. (A) Net ASSEtS..ueiiieeiiearereresaserescsnssosasosnsssnssonnscnns 1Mark
/Ans. (a) Purchase consideration
Or or
Q. (B) When a company .....ccceeveveiniiinieinicinecscnscnnce
Ans. (d) Any of the above 1Mark
- 1Q. (A) Ram and Mohan.......ccccceeeeiniiniieececnience cuee 1Mark
Ans. (¢) Ram 18,000 and Mohan 12,000
Or or
Q. (B) Anu, Bindu....ccccoviiniiiiinniiiiinnieiinnrecinneens
Ans. (d) 5,000 1 Mark
- |Q. Rohit and Mohit.......ccceiiiiiniiiiiniiiinnnicinnnnenns
Ans. (d) 350,000 1Mark
Q.Ritaand Usha......ccccoeiiiiieiiiniiineiiieiennncennnenns
Ans. (d) 5% months
1Mark
Q. On the reconstitution........c.ccceeeeeiiiiiiiinnneeiieeieeennnnnns
Ans. (b) Loss %1,00,000
1 Mark
Q. At the time Of ..euvuvnveieieneninieieienenieeenenenereenenn 1Mark
Ans. (c) Called up amount on shares
Q. ENItE L0, vveereeeereereeereeereeereeereeereeeeneereeeanen 1Mark
Ans. (b) 22,00,000
- |Gopal, Krishna and...........ccccceeuiiniiniinninnennennnnnn 1Mark
Ans. (d) 2:1
O RT3 1)) | R 1Mark




1010, OFfEr OF ceveeeeeeeeeeeeeeeerereeeeeeeeeeeneeeeeeeeeennnnaes 1Mark
Ans. (a) Private placement of shares
11.1Q. (A) A partnership........ceeeeeeeevvveeeeeeeeevnvnnnnen. 1Mark
Ans. (b) 46
Or or
Q. (B) Amit and Sumit.......cccoovieiiiiiiiiiinnnniiccnianns
Ans. (a) 320,000 IMark
12,10, TOtal ASSEES.cennereernnnereeenneereeenneereenneeeeenneeseens 1Mark
Ans. (b) Loss 26,00,000
13.10. (A) RAdhe Ltd....ceeeeennneeeeeeeeenneeeeeeeeeennneeees 1Mark
Ans. (a) 21,500
Or or
Q. (B) ACOMPANY ..ccvvinniiiniiiieiiiniiiieiiinieinecinnnens
Ans. (b) Z 3,000 1Mark
Read the following hypothetical............ccceeiveiiinnnn.n.
14.1Q. How much amount.........ccuueeeevenneeeeeenneeeeeenneneens 1Mark
Ans. (¢) 27,00,000
15,10, WAL Wll the.ueeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeseeeeeeeeeens 1Mark
Ans. (b) Rudra 29,000; Dev 29,000 and Shiv 4,200
16. 1Q.(A) ON AdMISSION...vvveeeeeeereeerereeeeeerreereaaneeeeeeeeens 1Mark
Ans. (b) In old profit sharing ratio
Or or
Q.(B) Q. Asha and Nisha......ccccvviiiiiiiiniiiiinnieiinnncenns
Ans. (c) 5:1:2 1Mark
17.]Q. (8) Mohan, SONaN ...cciieiieiiiiiiiiiiiiiniieieeneeneencennns
Ans. Profit and Loss Appropriation A/c
for the year ended 31.3.2022
Dr Cr
Particulars Amount | Particulars Amount
) )
To Profit transferred to Partners’ By Profit & Loss A/d 2,00,000
Capital A/c’s: (Net Profit) [
Mohan 80,000
Less: Guarantee to Suresh  (18,000) 62,000
) 3 Marks




Sohan 80,000
Less: Guarantee to Suresh  (12,000) 68,000
%
Suresh 40,000
Add:Guarantee from Mohan 18,000
Add:Guarantee from Sohan 12,000 70,000 or
2,00,000 2,00,000
or
Q. (b) A and B Were Partners.......c.eeeeeeeeenenencneneneeeeenenenencns 3 Marks
Ans. (b) Normal Profit= 20% of Capital Employed
=20/100 x %2,00,000=3340,000 ...............
Average Profit = 34,000 + 38’200 30,000 _ 102000 _ %34,000......
Q) Super Profit = Average Profit - Normal Profit
= 334,000- 240,000 =-36,000 ... Wz
Note- Since there is no super profit, hence the firm does not have any goodwill.
18.1Q. Mita, Geeta and MoRit......cceeeeierineeneennreneenereneenecancencns
ANS.
Books of Mita, Geeta and Mohit
Journal
L.F Debit Credit
Date Particulars Amount Amount
) )
2022 Geeta’s Capital A/c Dr 14,000 "
April 1 To Mita’s Capital A/c 14,000
(Goodwill adjusted on change
in profit sharing ratio)
Revaluation A/c Dr 1,20,000
April 1 To Mita’s Capital A/c 60,000 1
To Geeta’s Capital A/c 36,000
To Mohit’s Capital A/c 24,000
(Profit on revaluation of assets
and re-assessment of
liabilities  transferred  to
partners in old profit sharing
ratio)




Working Notes:-
1. Calculation of Gain/ Sacrifice= New share- Old share
Mita’s share= 5/10-2/5= 1/10 (Sacrifice)

Geeta’s share= 3/10- 2/5= (-1/10) (Gain)

1%
Mohit’s share= 2/10- 1/5= Nil
=3 Marks|
19.1Q. Vibha, SUANE ANd..eeeereeereeeierineeeeeeeeeeneeeeeeeeennnns
Ans.
Books of Vibha, Sudha and Ashish
Journal
L.F | Debit | Credit
Date Particulars Amount | Amount
®) ®) 3 Marks
Vibha’s Capital A/c Dr 20,000
Ashish’s Capital A/c. Dr 10,000
To Sudha’s Capital A/c 30,000
(Sudha’s share of goodwill adjusted to
capital account of Vibha and Ashish in
their gaining ratio 2:1)
Note- No marks to be deducted for not showing calculation of Gaining Ratio.
20.1Q. () SINCO Ltd..cceeeeeeeeeeiiiieieeeiereesnnsssssssereeeeeeeeeeeees
Ans. (a) Books of Sinco Ltd.
Journal
L.F | Debit Credit
Date | Particulars Amount | Amount
) Q)
Assets A/c Dr 1,98,000
To Dixon Ltd. 1,98,000
(Assets purchased from Dixon Ltd)
(i)Dixon Ltd. Dr 1,98,000
Discount on issue of debentures A/c Dr 22.000
To 10% Debentures Alc 2 20.000 1x3
(Allotment of 2,200 debentures of T100 each at = 3 Marks
a discount of 10% as purchase consideration)
(ii)Dixon Ltd. Dr 1,98,000
To 10% Debentures Alc 1,80,000
To Securities Premium A/c/ Securities 18,000
Premium Reserve Alc




(Allotment of 1,800 debentures of X100 each at
a premium of 10% as purchase consideration)

Q. (b) On 1.4.2021 Y Ltd

Or

debentures A/c
(Discount on issue of debentures written

off)

Ans. (b)
Books of Y Ltd.
Journal
Date Particulars L.F Debit Credit
Amount Amount
) )
2021 Bank Alc Dr 11,28,000
To Debenture Application 11,28,000
April 1 and Allotment A/c
(Receipt of application money on 12,000
debentures)
Debenture Application and Allotment A/c Dr 11,28,000
April 1 | Discount on issue of debentures A/c Dr 60,000
To 9% Debentures A/c 10,00,000
To Bank A/c 1,88,000
(Debenture Application and Allotment
money transferred to 9%Debenture A/c,
Excess application money refunded on
rejected application)
2022 Securities Premium  A/c/  Securities
Premium Reserve A/c Dr 10,000
March 31 | Statement of Profit and Loss Dr 50,000
To Discount on issue of 60,000

Or

1x3
= 3 Marks

21.

AnS.

Q. Saraswati Ltd

oooooooooooooooooooooooooooooooooooooooooooooo

ooooo




Balance Sheet of Saraswati Ltd (An Extract)

asat........oooiiiiiiiii
Particulars Note No. %
I. EQUITY & LIABILITIES
Shareholders’ Fund
Share Capital.............................. 1 5,89,800
Notes to Accounts
Particulars £
1.Share Capital
Authorized Capital
1,00,000 Equity Shares of 10 each................... 10,00,000
Issued Capital
60,000 Equity Shares of 10 each.................... 6,00,000
Subscribed Capital
Subscribed and fully paid up 143
58,000 Equity Shares of 310 each.................. Y2 5,80,000 =4 Marks
Subscribed but not fully paid up
2000 equity shares of 10 each % 20,000
-Calls in Arrears (X10,200) 2 9,800
(27,000+ 32400+ 2800) S
5,89,800
22. ] Q.P,Q and R Were....cceeeeeeineeeenneeeeenaneecannnes
Ans.
Dr Q’s Capital A/c Cr
Particulars Amount Particulars Amount
g 4
To Drawings 50,000 | By Balance b/d 2,50,000
To Q’s Executor’s A/c 4,19,750 | By General Reserve Alc 16,000
By Interest on Capital A/c 3,750
By P’s Capital A/c(goodwill) 75,000
By R’s Capital A/c (goodwill) 75,000
By P&L Alc 40,000
By P&L Suspense Alc 10,000 1 % 8
=4 Marks
4,69,750 4,69,750

Note- No Marks for balance b/d




23.

Q. Pass the necessary journal .........ccccovveiiiniinnnnn.
Ans. Books of Tanay and Mehak
Journal
Date Particulars L.F Debit Credit
Amount Amount
4 &4
(i)No Entry
(ii) Realisation A/c Dr 12,000
To Tanay’s Capital A/c 12,000
(Liability of loan taken over by Tanay, a
partner)
(iii) Tanay’s Capital A/c Dr 9,000
Mehak’s Capital A/c Dr 9,000
To Profit & Loss A/c 18,000
(Debit balance of Profit and Loss Account
debited to Partners’ Capital A/c)
(iv) Realisation Alc Dr 18,000
To Mehak’s Capital A/c 18,000
(Unrecorded Liability paid by Mehak, a
partner)
(v) Tanay’s Loan A/c Dr 4,000
To Bank Alc 4,000
(Settlement of Partner’s Loan by cheque)
(vi) Realisation A/c Dr
To Mehak’s Capital A/c 11,000
(Dissolution expenses paid by Mehak 11,000

credited to her capital account)

1x6
=6 Marks|

24,

Q. Pass necessary journal entries........ccccevuvnnnnnn.

Ans.




Journal

Date

Particulars

L.F

Debit
Amount

®)

Credit
Amount

Q)

(i)

Bank Alc Dr.
To Debenture Application
and Allotment A/c
(Application money on
9% Debentures received)

Debenture Application and
Allotment Alc Dr

Loss on issue of Debentures A/c Dr
To 9% Debentures A/c

To Premium on redemption

of Debentures A/c
(Debentures  application
transferred to 9% Debentures
Account)

money

Or

Debenture Application and
Allotment Alc Dr

Loss on issue of Debentures A/c Dr
Discount on issue of Debentures A/c Dr
To 9% Debentures Alc

To Premium on redemption

of Debentures A/c
(Debentures  application
transferred to 9% Debentures
Account)

money

4,50,000

4,50,000
75,000

4,50,000
25,000
50,000

4,50,000

5,00,000
25,000

5,00,000
25,000

(i)

Bank A/c Dr.

To Debenture Application
and Allotment A/c

(Application money on 12%
Debentures received)

Debenture Application  and
Allotment A/c Dr.
To 12% Debentures A/c
To Securities Premium Alc/
Securities Premium Reserve A/c

31,50,000

31,50,000

31,50,000

30,00,000
1,50,000

1x6
=6 Marks

10




(iii)

(Debentures application money

and Securities Premium A/c)

transferred to 12% Debentures A/c

Bank A/c

Allotment Alc
(Application money on 12%
Debentures received)

To Debenture Application and

Dr

Debenture Application and
Allotment Alc

(Debentures  application
transferred to 9% Debentures
Account)

To 12% Debentures Alc
money

Dr

8,75,000

8,75,000

8,75,000

8,75,000

25.

Ans. (a)

Q.(a) Ganga Ltd. Invited

Books of Ganga Ltd.
Journal

Date

Particulars

L.F

Amount

Debit

®)

Credit
Amount

®)

Bank A/c Dr
To Equity Share Application A/c

(Application money received on
15,000 shares)

Equity Share Application A/lc ~ Dr
To Equity Share Capital A/c
To Equity Share Allotment A/c
To Bank Alc

(Application money transferred to
Equity share capital Alc, Excess
money received adjusted towards
allotment and money refunded on
rejected applications)

Equity Share Allotment A/c  Dr
To Equity Share Capital A/c
(Amount due on allotment)

30,000

30,000

30,000

30,000

20,000
4,000
6,000

30,000

Yo

Yo

11




Bank A/c

Dr 25,480

Calls in Arrears Alc Dr 520

To Equity Share Allotment A/c

(Allotment money received except
that on 200 shares)

26,000

Equity Share Capital A/c Dr 1,000

To Calls in Arrears A/c
To Forfeited Shares A/c

(Forfeiture of 200 shares for non
payment of allotment money)

Equity Share First Call A/c Dr
To Equity Share Capital A/c
(Money due on 9,800 shares on First

Call)

29,400

Bank A/c

To Equity Share first call A/c
(Money received on First Call)

Dr 29,400

520
480

29,400

29,400

Ans. (b)

Q. (b) Mukund Ltd. Invited
Books of Mukund Ltd.

Journal

Date

Particulars

L.F Debit
Amount

®)

Credit
Amount

®)

Bank A/c

To Equity Share Application A/c
(Application money received on

1,20,000 shares)

Dr 3,60,000

Equity Share Application A/c Dr
To Equity Share Capital A/c
To Equity Share Allotment A/c
To Bank A/c

(Application money transferred to
Equity share capital Alc, Excess
money received adjusted towards
allotment and money refunded on
rejected applications)

3,60,000

3,60,000

1,50,000
1,50,000
60,000

=6 Marks

12




Equity Share Allotment A/c  Dr
To Equity Share Capital A/c
To Securities Premium A/c/
Securities Premium Reserve A/c

(Amount due on allotment @ 3 per
share including premium)

1,50,000

1,00,000
50,000

Bank Alc Dr
To Equity Share Allotment A/c

Equity Share first and final Call A/c Dr
To Equity Share Capital A/c

(Amount due on first and final call
@35 per share.)

Bank A/c Dr
To Equity Share first and final
Call Alc

(First and final call money received
except that of 2,500 shares)

Or
Bank A/c Dr
Calls in Arrears Alc Dr
To Equity Share first and final
Call Alc

(First and final call money received
except that of 2,500 shares)

Equity Share Capital A/c Dr
To Equity Share first and
final Call A/c
To Forfeited Shares A/c

(Forfeiture of 2500 shares for non
payment of the first and final call)

Or
Equity Share Capital A/c Dr
To Calls in Arrears Alc
To Forfeited Shares A/c

(Forfeiture of 2500 shares for non
payment of the first and final call)

nil

2,50,000

2,37,500

2,37,500
12,500

25,000

25,000

nil

2,50,000

2,37,500

2,50,000

12,500

12,500

12,500
12,500

No Marks

=6 Marks

26.

Ans. (a)

Q. (a) Madhav and Girdhari

Revaluation Alc

13




ANS.

Q. (b) Radhika , Ridhima

Particulars Amount . Amount
Particulars
) ®)
ToWorkmen’s Compensation 10,000 | By Stock A/c 23,000
Claim Alc By Creditors A/c 27,000
To Profit transferred to
Partners’ Capital A/c
Madhav %30,000 40,000
Girdhari %10,000
50,000 50,000
Dr Partners’ Capital A/c Cr
Particulars | Madhav | Girdhari Jyoti Particulars Madhav | Girdhari Jyoti
£4 4 4 4 g 54
To - 22,000 -- By  Balance | 3,00,000 | 2,00,000 -
Investment b/d Z
Alc
By Cash Alc -- -- 1 1,86,000
3,60,000 | 1,98,000 | 1,86,000
To Bal c/d
By Premium 30,000 10,000 --
for Goodwill
Alc
By 30,000 | 10,000 -
Revaluation
Alc i
3,60,000 | 2,20,000 | 1,86,000 3,60,000 | 2,20,000 | 1,86,000
Or

x4
=2 Marks

4 Marks

2+4
=6 Marks

14




Dr Revaluation A/c Cr
Amount Amount
Particulars 3 Particulars 3
To Profit transferred to Partners’
. By Building A/c
Capital A/c’s y g 1,20,000
Radhika 36,000
Ridhima 60,000
Rupanshi 24,000 1.20.000
1,20,000 1,20,000
Dr Partners’ Capital A/c Cr.
Particulars | Radhika | Ridhima | Rupanshi | Particulars Radhika | Ridhima | Rupanshi
4 4 4 4 4 4
To 90,000 - 60,000 | By balance b/d | 3,00,000 | 2,00,000 | 1,00,000
Ridhima’s
Capital Alc ByRevaluation | 36,000 | 60,000 | 24,000
& Alc
To
Ridhima’s 4.30.000 By Radhika’s
Loan Alc o Capital A/c
; priat 90,000
/9 (goodwill)
To By Rupanshi’s
Balance | 3,00000 | - 2,00,000 | capital  Alc 60,000
c/d % (goodwill) -
Y2
By  General
Reserve Alc 12,000 | 20,000 8,000
By Radhika’s
Current A/c 42,000
By Rupanshi’s
Current Alc 1,28,000
3,90,000 | 4,30,000 | 2,60,000 3,90,000 | 4,30,000 | 2,60,000

Note- No Marks for balance b/d

YoX 2
=1 Mark

1+5
=6 Marks
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PART-B
OPTION -I
(Analysis of Financial Statements)

27 Q. (A) INtETeSt Of.uuevvnerrneerneeruneerneernerrerraeerseeesneersersneessessnns 1 Mark
Ans. (b) cash inflow from investing activities.
Or Or
Q. (B)Incase of.....coiiiiiiiiiiniiiiiiiiiinnneiiiceiieesssssccessssnsssssaccnns
Ans . (a) Operating Activities 1 Mark
28|Q. Which of the follOWINE.........cevvuerrneereneerneernereneerneereneerneernneennes 1 Mark
Ans. (b) Ratio Analysis
Or Or
Q. FAIOS @B, ... e
Ans. (b) Solvency 1 Mark
2OIWHICH Ofccvvvvvnenneeeeereeeerreeeeeeeeeeeeeeeeaaaeeeeeeaaaeeeeeeeeeeeneeesnnnnne 1 Mark
Ans. (a) Cash withdrawn from the bank X7,000.
L T (R T 113 o 1 Mark
Ans. (c) 7.2 times
31| Under which major heads.............
Ans.
Item Major Head Sub Head
Q) Income received in | Current liabilities Other Current liabilities
advance
(i) Computer Software | Non Current Assets Fixed Assets- Intangible B 72X 6
Assets =3 Marks
Alternatively
Property, Plant and
Equipment & Intangible
Assets
(iii) | Balance of forfeited | Shareholders’ Fund Share Capital
shares account
Note- Full credit to be given for writing only Intangible Assets or Fixed Assets under
Sub Head of part (ii).
32.1Q. ‘It is a technique which......................
Ans. Ratio Analysis 1

Limitations of Ratio Analysis : (Any 2)
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1.Accounting data give an unwarranted impression of precision and finality. In fact,
accounting data reflect a combination of recorded facts, accounting conventions and

personal judgements which affect them materially. 2
2. A change in the price-level makes analysis of financial statement of different accounting
years meaningless because accounting records ignore changes in value of money.
3. Accounting provides information about quantitative (or monetary) aspects of business.
Hence, the ratios also reflect only the monetary aspects, ignoring completely the non-
monetary (qualitative) factors.
4. As there are variations in accounting practices followed by different business
enterprises, a valid comparison of their financial statements is not possible 1+2
=3 Marks
5.Forecasting of future trends based only on historical analysis is not feasible. Proper
forecasting requires consideration of non-financial factors as well.
33.0. (@) (i) Calculate Revenue from Operations.....................
Ans. Current Ratio 2 : 1
Current Ratio = Current Assets/ Current Liabilities
Therefore, 2/1=8,00,000/Current Liabilities
Current liabilities= %4,00,000..........cccoviiiiiiiiiin Z
Quick Ratio=1.5:1
Quick Ratio= Quick Assets/ Current Liabilities
1.5/1= Quick Assets/ 4,00,000
So, Quick Assets = %6,00,000 (1-5 x 4,00,000) ............ Yo
Inventory = Current Assets- Quick Assets
=8,00,000 - 6,00,000 =%2,00,000................ Wz
Inventory Turnover Ratio = 6 times
Inventory Turnover Ratio = Cost of Revenue from Operations/Average
Inventory
6 = Cost of Revenue from Operations/ 2,00,000
.. Cost of Revenue from Operations = 2,00,000 x 6 =%12,00,000....... %
Gross Profit Ratio = 25% on cost
3

So, GP =12,00,000 x 25% = %3,00,000......................... Yo

Revenue from Operation = Cost of Revenue from Operations + Gross Profit
=12,00,000 + 3,00,000
=R15,00,000......cuinieiiii Yo




Q. (a) (i) The Operating ratio......ccceeeeeeeereaeeeeeecerenreaceecescnsencescnsanses
Ans. Purchase of Goods costing 320,000 will not change the operating ratio.

Or

Q. (D) The debt eqUItY..ccceeieiieiieiiiiiieiieeiiierieeeecerenseacescnsensoscnss

Ans. (i) Increase, Reason= Debt will increase, Equity will not change.
(if) No change , Reason= Neither debt nor equity are affected.

(iv) Decrease, Reason= Equity will increase, debt remain same.

(iii) Decrease, Reason= Debt will decrease while equity will remain same.

3+1
=4 Marks
Or

(% Mark
for effect +
% mark for

reason)
1x4

=4 Marks

34.

Q. Read the folloWing.....cccevieiieiieiiiiniieiiereienieeriessrsnssasessessnsensssnsonses
Ans. Cash flow statement (As per AS 3 revised)
for the year ended 31st March 2022
Amount Amount
Particulars 3 3
Cash flow from Operating
Activities
Net loss before Tax (1,00,000) %
Adjustment for Non-cash and
Non-operating items
Add : Depreciation 1,00,000 Y2
Operating profit before change in Nil
Working Capital '
Add Decrease in Current Assets
Increase in Current Liability
Inventories 1,00,000 V2
Trade payable 25,000 1,25,000 Y2
Less Increase in Current Assets
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Decrease in Current Liability

Trade Receivable (25,000)

N

New Cash flow from Operating
Activities

Cash flows from Investing
Activities :

1,00,000

N

N

Purchase of Intangible Assets (3,00,000)
Sale of Non-current Investment 1,00,000

N

Net Cash used in Investing

Activities (2,00,000)

Cash flow from Financing
Activities :

Issue of Share Capital 3,00,000

Proceeds from long-term
Borrowings

Cash flow from Financing
Activity

Net Increase in Cash and Cash
Equivalents 3,00,000
(A+B+C)

Cash and Cash Equivalents in the
beginning

Cash and Cash Equivalents in the
end

RNIRS

1,00,000

4,00,000

RN

RN

2,00,000

5,00,000

6 Marks

PART-B
OPTION -I1
(COMPUTERIZED ACCOUNTING )

27.

Q. works as a platform............
Ans. (¢) Gateway of Tally

1 Mark

28.

Q. (A) Which of the following components.........ccccovviueinnnnnenn.
Ans. (b) Data

Or
Q. (B) Which of the following software.........cccceevviuiiiniiinicnnen.
Ans. (c) Generic

1 Mark
Or

1 Mark

29.

Q.(A) A is identified by........ccccevneennnnn.
Ans. (b) Cell
Or

1 Mark
Or
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Q. (B) Entries required to make..........ccccoeeeiininnnen.
Ans. (c) Closing entries

1 Mark

30. (Q. The ranges are..........ccccoeeennenn 1 Mark
Ans. (d) Using Colour
31. |Q. Explain any three...................
Ans. There are three advantages of using charts.
Q) Help to Explore : It is helpful in finding relationship between variables.
(i) Help in Presentation : It takes little time to present information. Here graphing
and presentation plays a key role. Due to shortage of time, detailed reports are
not preferred by analysers. Charts seem to be the answer to this change in the
need of users of information.
(i) Help to Convince : The chart can help to present and explore different
characteristics of data simultaneously. Charts have the ability to exhibit large
amounts of information which is helpful in persuasion to take quick decision. 1x 3
= 3 Marks

32.

Q. Explain two main groups......ccccceeveveieiinnnnne
Ans. Two main groups in which ‘Group of Accounts’ is classified in Accounting Software
‘Tally’ are:-

% mark for

heading and
Q) Primary Groups: It is basic grouping of the set of sub-groups into major account 1 .2k for
heads according to their listing in Balance Sheet and Profit and Loss account.  |eypjaination
(i)  Sub-Groups: It is a set of accounts opened in the ledger of recording of related 1%x2
transactions. =3
Marks
33. |Q. (a) Whatis a.......cccevvennnnne.
Ans. A ‘Pivot table’ is an interactive way to quickly summarise large amounts of data. It is
used to analyse numerical data in depth and to answer unanticipated questions about data. 1
Advantages : (Any three)
Q) Querying large amounts of data in user-friendly way and
creating custom calculations and formulas.
(i)  Expanding and collapsing levels of data to focus on results and
providing from details to the summary of data for areas of
interest.
(iii)) ~ Moving rows to columns or columns to rows to see different
summaries of source data. 3
(iv)  Filtering, sorting, grouping and conditionally formatting the

most useful and the interesting subset of data to enable to focus
on useful information.
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for payments made at the beginning of the period.

(V) Presenting concise, attractive and annotated online or printed 143
reports. —4 Marks
(vi)  Facilitating analysis of long list of figures and to compare
several facts. or
Or
Q. (b) List eight USeS Ofc.eeuiieiieiieiiinineeneenrannnne
AnNs.
Following are the uses : (Any eight)
Q) Do all basic accounting functions
(i) Manage stores
(iii) Do the job costing
(iv)  Manage payroll % x 8
=4 Marks
(V) Get useful MIS reports
(vi)  File tax return and prepare final accounts
(vii)  Maintain budgets
(viii) Calculate interest on pending amount
(ix)  Manage data over different locations and synchronize it
34. |Q. Name the function which is .............uevuneeee.
Ans. The name of the function is PMT. 1
Its syntex is = PMT (rate, nper, pv [fv], [Type])where
rate =is the interest rate per period.
nper =is the number of periods. S
pv=is the present value, or the amount the future payments are worth presently.
fv=is the future value, or cash balance that after the last payment is made a
future value of zero when we omit the optional argument. 145
Type=is the value 0 for payments made at the end of the period or the value 1 5 Mark
=6 Marks
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